FSSA

e EBARA

STAINLESS STEEL VOLUTE PUMPS

FEATURES APPLICATIONS

e Pump portion contacting liquid is made of high * Industrial use
grade 316 stainless steel * Chemical solutions

« BPO (back pull out) system allows all rotating * Industrial drainage
elements to be removed without disconnecting » Hot and cold water supply
suction and discharge pipe work e Sea water

« Top centreline discharge, foot support under * Water supply
casing for maximum resistance to misalignment * For swimming pool
and distortion from pipe loads » Sprinkling

« Non-overload design to ensure stable « Air-conditioning
performance for all applications * Drinking water

e Compact construction, applicable for two-poles
high speed motor provides a compact unit
and minimizes installation area
* Wide range application due to 316 stainless steel material

STANDARD

OPTIONAL

2 Poles model 4 Poles model

2 Poles model 4 Poles model

Name

Water, oil, liquid chemicals, Refer to table 1

Liquid Temperature 0 to 100°C (32 to 212°F) For specifications other than at left, see the liquids
Viscosity below 10cst list please contact Ebara
Special gravity 0.7t0 1.0
Re. NPSH 4m...Except for Model 100 x 80 (2 pole)
7m...Model 100 x 80 (2 pole)
Installation Indoors Outdoors
Impeller Enclosed -
Shaft seal Packing Mechanical Seal (0~90°C)
Sealing Internal-self -
Construction Bearing Sealed ball bearing -
Shaft sleeve No -
Casing Ring No -
Flange JIS 10 kg/cm? R.F. -
Materials Casing SCS-14 Stainless steel -
Impeller SCS-14 Stainless steel -
Shaft 316 Stainless steel -
Casing Ring - -
Casing O-Ring Fluororubber (viton) Teflon (PTFE)
Seal Carbonized Fiber Mech. Seal : SiC/SiC
Accessories Bare shaft - -
With motor Common base, Coupling, Coupling guard -

328




=

PERFORMANCE CHART 2 Poles

o 50Hz (Synchronous Speed: 3000 min-1)
350 1 00
300 - ] =
1] /
4 [[ ~—
2
206 4 ¢ -\/ s
ey
o %\\\% |
150 - T - y
'\ \ V).‘, "I,
b o) . 40 \ e
@ . 2%3 4‘%3 \
] > I~ (D
= w0 g 7\\ 2 “B) %\
% \ ‘.%?k D) S
- 2(;43? \ ‘> BN > %
I B NN Z H\"i\ h NON
20 = s -
NI
1 AN T
i I WA NRAYESN AN N
4 : s, )
40 A ™~ I \ "’\ ﬁ\\ o:?‘\/ > \
o 9\\ Vs : [ %
30 o =, ’
% \ \
. IRAW \
'%4,, 80 x 65 (100 x 8]
20 - A
5
[50x40] | (65x50]
0.1 0.2 0.3 04 05 06 08 1.0 15 2 3 mimin
— ) 5I0 1::0 15‘0 z?o 3?0 «lm 5?0 s?o 7?0 stg USGPM
. s0 100 0 200 00 400 500 600 imp GPM
Capacity

SYMBOLS

[40] [X] [32] [FsS] [2] [FA] [5][.75]

2 P_ole Output in kW : 0.75 kW
Drive

Frequency (50 Hz:5)

Model

Discharge size (in mm)

Suction size (in mm)

329



e EBARA

FSSA

PERFORMANCE CHART

SYMBOLS

[50] [x] [40] IFSSI [GA] [5] [.4]

4 Pole
Drive

Output in kW : 0.75 kW

Frequency (50 Hz:5)

Model

Discharge size (in mm)

Suction size (in mm)

330

4 Poles



e EaARA

FSSA

LIQUID HANDLED

(el o) Mechanical | v | © o (ol o) Mechanical | v | O 3 (ol o) Mechanical | v | © &
Liquid |z seal 3|33 Liquid |zl _seal 3|53 Liquid |z seal 3|33
5|2 22l e »< 2|23 e >< | 2|23
SRHEHEEE SHHEHEHE SHHEHEHE
cle|3ze |9 |E cle(3se|9| | cle|3se|g| |
Sl |al 2 ) Sla|ak 2 o Sla|ak 2 @
« o = «Q (=] = «Q (=] =
=] < =3 < =3 <
*A *E *0
Acetaldehyde T|C|1 S O Emulsified oil F|C|2 S Octane F|D S
Acetic acid T|C|1 S (o} NeJ Ne) Ethyl acetate T|C|1 S (o} e Octanol F|C S
Acetic anhydride T|C|1 S O O Ethyl acrylate T|(D|1 S Oleic acid F|C S oo
Acetone T|C|1 S Ethyl alcohol F|C|1 S *p
Acetlc-JnltnI.t(aj F|D|1 2 o] Ethyl benzene. F|C|1 S ) Paraffine wax Flel2 s
icryllc a‘fl'| -'|:- 2 1 . O @] Ethylene chloride F|[D|2 S @] Parilla oil Elc|1 s
Alm’ho FI r(lj g ) el . Ethylerlne gllycol F|C|1 S (@] Petroluem Flel1 s
AIIC(I) 0 Itc . rinks g . Ethyl pirydine TPt S Petroluem benzine Flc|1 S
A"ylace f‘ € lelil s *F Pinene Flp|l1] s
Y acetone Ferric nitrate F|D|2]| S+Q |O|O]| O Potassium bomide F|ID|2| S+Q |[O|O]|O
Allyl alcohol F|C|1 S X , . ,
. Formaline F|C|1 S O Potassium carbonate F|D|2| S+Q |O|O
Allyl Chloride F|C|1 S . . .
R Fruit juice F|C|1 S Potassium chloride F|C|2| S+Q |0 |0
Ammonium carbonate F|D|2 S+Q [0} Ne] L . .
. } Fruit oil F|C|1 S Potassium dischromate | F | C | 2| S+Q [O | O
Ammonium bicarbonate | F [C |2 | S+Q |[O|O| O h P
Amyl acetate Tlel1 s o Fuel oil F|C|1 S Potassium iodine F|ID|2| S+Q |O|C
D . . . -
Amyl alcohol elcl1 s o Furtural T|C|1 S ] sotasT.lumtmttrate _i (S i S ; Qlofo
Amyl chioride T|p|1 s o *G P’°py| acetate clel N
Amyl ether F|C|1 S Gas oil F|C|1 S ropylene o
Aqueous ammonia F|C|2 S ol|lo Gasoline F|C|1 S R
) Glycerine F|C|1 S Ol0| O Rapeseed oil F|C|1 S
Barium chloride Flclz2] s+ao|ololo] I#= Refrigeration ol Flejr| s
Benzaldehyde T|C|1 S ) Heavy oil FlC|1 S *S
Benzene T|(C|1 S Heptane F|C|1 S Salad oil F|C|1 S
Benzene F|C|2 S Hexane F|C|2 S Sea water F|C|1 S
Benzyl acetate T|(D|1 S O Hexyl alcohol F|C|1 S Soapsuds F|C|2| S+Q O
Bonc acid F|C|2]|] S+Q |O|O|O Hydraulic fluids F|C|1 S Soda bromide F|D|2]| S+Q |O|O|O
Brake oil F|C|1 S | Soda nitrate FI|C|2| S+Q |O|O|O
Buty: acetate . | T|(D|1 2 O Ink Tlol1 S o Sod_a SU".a.te F|D|2]| S+Q |O|O|O
SutyI acetate d!zmly -'|:- g 1 : O\ \soamil alcohol Elcl1 s Sodlum silicate F|C|2| S+Q
BUtyI aceia'ie d! R’] | Flol1 S (C’ Iso butil alcohol F|C|1 S o Solar O_” Flejt S
Butyl alce ET ethy clels s ’ 1so butil-methyl ketone | F [ D | 1 s Souroil Flc(t S
Bu:yI attr:]o ol clels 1so octane elpl1 s o Soya bean oil F|C|1 S
BE yrii a:ird Tlcla s . Isopropy! alcohol F|C|1 S O Soy saurce Flc|t S
v/ R - Isopropyl benzene T|D|1 S Styleng i FID|1L S
Butyric ethyl T|(D|1 S o — Sugar liquids F|C|2 S
Butyric methyl T|D|1 S J Sunflower oil F|C|1 S
*C Juice F|C|1 S T
Calcium Carbonate F|C|2| S+Q |O|O K Tannic asid FID|2] s+Q olo
Calcium hydroxide Flc|2| s+Q|ofo Kerosene Flc|1 S Thiophenol Flp|1 s |o
Carbolic acid T|D|2| S+Q |O o L Trichloroethylene FlCc|1 ] o C
Carbo_nate water F|C|1 S Lactic acid Flcl|2 s o o Triole Tlc|1 S 0
Caustic soda F|{D|[2]| S+Q OO Linseed oil Elc|1 s Turpentine oil Flc|1 S
Cellosolve T|bj1| s Lubricating oil Flc|1| s U
Cellulose acetate T|D|1 S e} ) Y NP
Chrolobenzene T|C|1 S ] - - urea FIP|2] S*Q |00
Chrome alum Flp|2] s+qo |ol|o|o Magnesium hydroxide | F [C| 2| S+Q [} e] *\/
Citric acid Flcl2]| s+Q|olo]o Methyl acrylate T{D|1 S Vegetable ol Flcl1| s
Coconut oil Flc|1]| s+0 Methyl alcohol F|C|2 S W
Methyl chloride F|D|2]| S+
Coffee extract FlC|1 S Yy Q Whale oil Flclt S
Copper nitrate Flp|l2| s+Q|olo|o Methy! chloroform F|C|1 S o} O Whi Flell s
Com oil Elelil ~s Methyl ethyl ketone | T |D|1| S o hisky
Creosote Flpl|1 s o Methyl isobutyl ketone | T | D | 1 S Wine FlC|t S
Cresol FID|1] s+Q |0O Milk Flci1 S X
Cyclohexane Elcl|1 s o Mineral oil F|C|1 S Xylene F|C|1 S
) Mineral spirits F|C|1 S
Monoethylene glycol F|C|1 S ial : : i
Diacetone alcohol T1cl S ylene gy Gasket material : F : Flourorubber (viton)
h Mustard oil F|C|1 S T : Teflon (PTFE)
Dichlorobenzene F|C|1 S O O land Ki ial bonized fib
" o
Dichloropentane Flpl1 s o N Gland packing material : C : Carbonized fiber
Diethyl benzene Flc|1 S o) Naphtha FlC|1 S ) - Db Teflon
Diethylene glycol Flcl1 s olo Naphtha solvent Flc|a s Mechanical seal material :
Dioxane Tlpol1 s o o Natrium carbonate Flc|2]| s+Q |o|o|o 1 : Ceramic/carbon
Drain Flc|2 s Natrium discarbonate | F|C |2 | S+Q |O|O| O 2 : Superhard alloy/carbon
Dyeing solution Elp]|2 s o Nonyl phenol F|D|1 S Water Activation (mechanical seal):
S : Self-injection

S +Q : Self-injection + Quenching or external

injection

Specific gravity : O : Check the value

Density
Temperature

10 : Check the value
10 : Check the value

Note: The above chart is a general guide. Liquids have been listed according to the most commonly used classification, but corrosion resistance will vary considerably
depending on the characteristics of the liquid (temperature, density and purity) and the circumstances in which it is used.

331



% E2ARA FSSA

IMPELLER & COUPLING 2 Poles

MOTOR IMPELLER  COUPLING SHAFT DIAMETER

POWER FRAME DIAMETER CLA PUMP MOTOR

Kw No. mm dp (mm) dM (mm)
0.75 80 122 112 19
40x32 FSS2FA 1.5 90S 135 112 19 24
22 90L 162 2 24
40x32 FSS2GA 3.7 112M 180 125 19 28
0.75 80 112 112 19
50x40 FSS2FA 15 90S 133 112 19 24
2.2 90L 140 112 24
22 90L 149 112 24
SOXRDESSZCA 37 112M 165 125 19 28
55 1325 168 160 38
50x40 FSS2HA 75 132S 189 160 24 38
11 160M 210 160 42
22 90L 123 112 24
65x50 FSS2FA 3.7 112M 137 125 24 28
22 90L 134 112 24
65x50 FSS2GA 37 112M 151 125 24 28
55 1325 167 160 38
65x50 FSS2HA 75 1325 188 160 24 38
1 160M 209 160 42
11 160M 207 160 42
65x50 FSS2IA 15 160M 220 160 ” 42
185 160L 233 160 42
22 180MA 259 180 48
22 90L 118 112 24
80x65 FSS2FA 37 112M 132 125 24 28
55 1325 147 160 38
37 112M 142 125 28
80X65 FSS2GA 55 1325 160 160 24 38
75 1325 178 160 38
75 1325 172 160 38
80x65 FSS2HA 1 160M 194 160 24 42
15 160M 215 160 42
37 112M 122 125 28
100x80 FSS2FA 55 1325 137 160 24 38
75 1325 152 160 38
75 1325 146 160 32
100x80 FSS2GA 1 160M 165 160 24 42
15 160M 183 160 42

IMPELLER & COUPLING 4 Poles

MOTOR IMPELLER  COUPLING SHAFT DIAMETER

POWER FRAME DIAMETER CLA PUMP MOTOR

Kw No. mm dp (mm) dM (mm)
50x40 FSSAGA 0.4 71 165 112 19 14
S 0xd0 FSSAGA 0.75 80 189 112 24 19
15 90L 210 112 24 24
65x50 FSS4GA 0.4 71 165 112 24 14
0.75 80 179 112 24 19

65x50 FSS4HA
15 90L 209 112 24 24
22 100L 233 125 24 28
65x50 FSS4JA
37 112M 259 125 24 28
80x65 FSSAGA 0.75 80 169 112 24 19
80x65 FSSAHA 15 90L 215 112 24 24
15 90L 165 112 24 24
100x80 FSS4GA

22 100L 183 125 24 28

332



e EaARA

Packing type (standard)
) PACKING TYPE (STANDARD)
Mechanical seal type (standard) e oY
NO. PART MATERIAL ONIT
091 GLAND 316 STAINLESS STEEL 1
119 | GLAND PACKING CARBONIZED FIBER 4
124 GLAND BOLT 316 STAINLESS STEEL 2
MECHANICAL SEAL TYPE (OPTIONAL)
PART QTY/
NO. PART MATERIAL ONIT
016 |MECH.SEAL COVER| 316 STAINLESS STEEL 1
111 MECH. SEAL sic/sic 1
115-2 “0" RING FLUORORUBBER (viton) 1
PART QTY/ PART TY/
NO. PART MATERIAL UNIT NO. PART MATERIAL SNIT
SCS14, STAINLESS
001 CASING STEEL CASTING 1 053 | BEARING COVER CAST IRON 1
ot | CASING CovER | SCS14 STAINLESS R 056 | BALL BEARING - 2
STEEL CASTING 093 DEFLECTOR RUBBER (EPDM) 1
031 SHAFT 316 STAINLESS STEEL 1
095 | BEARING SUPPORT STEEL 1
039-1 KEY 316 STAINLESS STEEL 1 _
115-1 O-RING FLUORORUBBER (viton) 1
039-2 KEY CARBON STEEL 1
120-1 |  BOLT, CASING 304 STAINLESS STEEL 1SET
048 | IMPELLERNUT | 316 STAINLESS STEEL 1
e 120-2 | BOLT, B.HOUSING STEEL 4
051 HOUSING CAST IRON 1 135 IMP, WASHER 304 STAINLESS STEEL 1

333



FSSA

PERFORMANCE CURVE

40 x 32 FSS2FA According 0 1SO tsting
50Hz (Approx. speed 2880 min™") | $.G.=10 Vis.=1.0cSt
R m m [Ft
100 o 1NN Rea. NPSH . )
o Lo
ik
20 - 2135 4o 50_do £
- - o E
o L 9
= 598
» |-gt =R i E g:-
i 1 | L[\ £3=
“ [ 211 I inAY E
= TSR
il A ENEN =
=L/ N
40 4 ™~ \\*,\,'\/
10
20
B
5
Bl &
imin 0 3] e
4 T T T T
§' usePM 0 50 100 160
mpGPM O s‘n 1&0
HE | KWW
20 15
E- 2z
19 —— =
g 10+ o : : = | @108
'] ']
50 x 40 FSS2FA According o150 tstg
50Hz (Approx. speed 2880 min®) | S.G.=1.0 Vis.=1.0cSt
Ft m m[Ft
| 4
i)
- NPSH 10
1001 @ L 2
ol
HR140—T40%, 8 g
L T WA &
B13: I ] =70 H
Aay R 45
@129 i ™~ Eu
» T iy ES
60 | 18] T Iy 70 E
mRBiERS SN oSSR BN
N N - \}@
2 N1
10 ] K
LA
1 'y
20 |
k] B
2 2
gl &
e 0 02 04
g vecew § % T =
impGPM 0 50 100
HP | kW [
200 18 N [ et
1 =
ol 10 ] EEEN)
g 05 :_____ 2 e
0 o

Curve o 2- OFE8S00Y

334

2

900 min?

Accordlng to [SO testing
40 x 32 FSS2GA Accordingt0 190t
50Hz (Approx, speed 2880 min'") | $.G.=1.0 Vis=1.0cSt
[ m | m[R
[ 4
Re. NP3 1q
ECRMmERRRRS :
150 s
ot L
-
ol = 3 it
etz | 1] = £
Ll I \ o
LS Ry SN AR s
100 (21 w1/ §_§§
1 E
I~
2
50
E B
3
E 2o
mmn 0 02 04
2 I T T T
§ usGPM 0 50 100 180
[ ) 0 100
He | kW I
60 45 !
2180
g 0 - 1
30 = 2144
% 16-FF ==t
0 0
Csrvw No.- 2 - RSO0
According to ISO testing
50 x 40 FSS2GA According o 180t
50Hz (Approx. speed 2880 min'") | S.6.=10 Vis.= 1.0cSt
Ft m m Rt
] 4
1501 -
olo
“ . i d
o[ el s
.58 _E
@157 T~ S8y
@149 ~ 1 AN 3 g:
100 L | I~ i3S
o T~ ™ E
2140 m i ~
132] ] -
= =7
[~
20 !\ S <]
50
i i
| ]
,E Lo
wimin 0 02 04 06
g e § % o o
imp GPM lIJ éﬂ 1'00
HP | kW
8.0 45
g 20 NN IS
3.0 == =
g .5 e NN 132]
0 ) [



FSSA

PERFORMANCE CURVE

2900 min*

According to ISO testing
65 x 50 FSS2FA Accoring 0150t
50Hz (Approx. speed 2880 min") | S.G.=1.0 Vis.=1.0cSt
Ft m m [F
Re. NP r 1q
100 » - 2
olo
Z
g8
2137] | 49%] 50
15 o €
] . N . E
130 { N Epe
. I | ™~ TN 2 5 5:
ezl [ ]] TN 13s
T4 Pa 7 E
11811
50 g110] [/ L N 66
t~ N 1
N AN Dl
N
10 ] r
N >
NI
>
1
gl &,
almin 0 02 04 a8
% [ T T T
g USGPM 0 5 100 150
3 Iy ) T T
ImpGPM 0 50 100 160
HP kW
604 45
% 2137]
30 = —
3.0 - S o
g 's "’"‘:__,,,_._— @110]
3 0 [

Cuve o . SFESHS00

According to ISO testing
50 x 40 FSS2HA oo 2540 Clago O
50Hz (Approx. speed 2880 mln") 85.6.=10 Vis.=1.0cSt
Ft{ m 'm [Ft
B s
. 1q
8 "
250.] L~
LB
2210, | ¢do; | 8 &
Y N v | ;
N dog
oo X [P
: B
i VFIN g5
}gn ib:3 E
150. s
M~ /
40 (2168 N K
Ut -
100
20
504
|3
Bl &
ndmin 01 02 03 04 05 06 07 08 08 0 11 12 13 14
f owmb & @ b & W
8 Imp GPM é 5‘0 150 11’)0 260 2%0 3(‘10
He | kW
8- 12
i 8 L 1a210
E 8 = ]
5 M i
] 0
According to I1SO testing
65 x 50 FSS2GA Accoring o SO
50Hz (Approx. speed 2880 min") | S.6=10 Vis=1.0cSt
Ft m m R
1q
T . j‘ ] .
°3
. -]
£
160 oot
9
@168 -
e ey 2§§
2158) 180 E
i
0] 2151 N NG
Ll A [6}
[ TNC]
: J\L K.
o n §
50 | { Rt
=
10
B
| 3
gl &
dmin 01 02 03 04 05 06 07 08 09 10 11 12 13 14
% I T T T T T |
§ USGPM 0 §0 100 150 200 300 350
mpaPM 0 50 100 150 200 250 300
He | kW
s8] o
Pl EEEMA
1 R R L
» 0 ol
o 0 !

Gurve Wo.- 3 - 6RES5007

According to ISO testing
65 x 50 FSS2HA Accarding o 0 t
50Hz (Approx. speed 2880 min") | 8.6.=1.0 Vis.=1.0cSt
Ft m m R
10
400 2 L4 "
o Lo
- gk
£
200 £
42
® e
=3
E
D208 400
50
200 60 %l —7— <86-¢q
oiss| [ | T~ e q
o178 -~ [ 75 7
40 IQ{W_ | ™
L NN
100 ~
™~
20
B
B 1
gl &
> mimin 0 0.1 02 03 04 O5 08 07 08 09 10 11 12 13 14
g uscPM 0 0 100 150 200 250 200 350
mpGPM 0 2 100 150 200 250 3t0
HP | KW
20+ 18
% 10
s 0] EEEN T
& § = ] L
0 ) []

Guirve No. 2 - GFESE808



FSSA

PERFORMANCE CURVE

According to 1SO testing
65 x 50 FSS2JA According 0180t
50Hz (Approx. speed 2880 min™) | .6.= 1.0 Vis.= 1.0 cSt
Ft m | m [F{
| s
I
400 = Re. NPSH. 1q
| 4
= oLo
@259 ] 8 g
100 = 01— =
300.| @246 T I ] N E
OO A 8%y
© T T T A m i
N N Ls i35
|22T2'J | N E
T I KL/
200 0 2207 | | N1/
e ™~ P
N
N e
4
100
20
3| %
3| 3
S Eg
o 01 02 03 04 05 08 07 08 09 10 11 12 13 14
2z
§  uom 0 80 100 150 200 280 300 360
S worm b % 100 180 200 250 3o
HP KW
0] 30
g 20 L @259
g *] e il
10 =
- - B A b
0 0 1
According to ISO testing
80 x 65 FSS2GA oo 2548 Clan O
50Hz (Approx. speed 2880 min'") | $.6.=1.0 Vis.=1.0cSt
Ft m m [Ft
= 4
2004 o N Re. NP3 X 1q
olo
T
© R
£
180 . £
o178 70% 5’0\ o0 gry
o 0 By:
o160 i e P E
L T S
100 ] 3035’ L] [ Ve L I
AN A =
g A /
- ~NUDTINY
. N TN
/ N
10
=
B k]
§ =5
wdimin 01 02 03 04 05 08 07 08 09 10 11 12 13 14
-4
3 uscPM 0 8 100 150 2o 250 00 350
S poru O P 100 150 2o 250 ato
HP KW
04 75 p——— 2178
§ 50 I e
5 - — =11
E 25 L == ei“
3 0 \
(G2 oFB88810|

336

2900 mint

According to ISO testing
80 x 65 FSS2FA According 0 1501
50Hz (Approx. speed 2880 min"} | S.6.=1.0 Vis.=1.0cSt
Ft m ] m [Ft
= .NPS!I" 19
0 g L = s
2147 1
- o Lo
29130 ] ; &
b P~ 70 g 2
[~ ] [‘\’3 T £
aizz| | [ [JT 1A s
i i I SR %o
2 2126 Ji I 1 6 ¥ é‘;_.
™~ N > g=s
2118 i \ 7 £
T/ AN
50 | N K P
ST INA TN 6
N N
10
et "
i
k-]
B I
gl &
a0 05 10 16
£ I T T T
8 USGFM 0 &0 100 180
S mpeem & P 100 150
We | kW _,__JQA_:
60-{ 48 —
§ a0 - R 5118]
30+ e -
g 18 o
'] 0
Curve No.- 2 . 6FES8808
According to ISO testing
80 x 65 FSSZHA code 2548 Class C
50Hz (Approx. speed 2880 min’") | S.6.=1.0 Vis.=1.0cSt
1] m m [Ft
4
400 Re.NPSH | | , "
0 Lo
" it
£
300 £
S8
80 it
LS
£
0l 2151 —130%-40
* o2l 1] 7] s
@94 [V 88
(2183 - 73
Wi mm s e AN AV R = SR N
7] =] Y
100, ™ LN
NS
20
k-1
i I
] 5
g 2y
nimin 0.1 02 03 04 05 06 07 08 09 1.0 14 12 13 14
E usaPM 0 50 100 150 200 250 %00 350
ImpGPM O EY 100 150 200 250 30
He | kW [
6 12 ——— zlzu
B s =
8 - = T o7
5o R = ;
0 0 ‘



e

PERFORMANCE CURVE 2900 min*

According to SO testing According to 1SO testing
100 x 80 FSS2FA Accarding 0 50 100 x 80 FSS2GA Accarding 0 50
50Hz (Approx. speed 2880 min™) | $.G.=1.0 Vis=1.0 ¢St 50Hz (Approx. speed 2880 min™") | $.G=1.0 Vis=1.0cSt
Ft m ] m [F Ft m ] m (R
4 [ 4
ol i — L npsi 10 20 - - 10
30 *=J::4a - - bt 2 < - R
s . oLy
1 I 3 3
. - l ~/\ ]T -3 ] P 3 z
2R i g0 a g 150, [2183] a0y, | u £
oi29) T~ N/ A8y P70 583
» et | _!_g‘_; © | BT [\ ] 0. ié*s'
w o fi N = w1 A B
™ ’ ’ o158l 1“""\ ™ 89
™ NI/ [ 100.| 20 =4 l A - NAS IP
™~ 68 2148
N iy AN
0 i / /)\ ™ N, 7
° [ X * X
A, 50 |
Py A b
10
I i 1| %
gl & gl &
wlmn 0 10 20 a0 dmin 0s 1 15 2 25 3
§ vecen § p ps % E e P & & %
Imp GPM lIJ 2‘00 IIDU 060 ‘§ Imp GPM. (I) 2;)0 Mlln ebo dau
HP KW [ HP | kW L] [t
0] 75 Rom—— 2152 6 12 o =11
§ o 80— =] %. o i —— il 3146
E 26— 21z E . S v
®» § | 7]
o ) [ 0 )
:

337



FSSA

PERFORMANCE CURVE 1450 min?

According to I1SO testing According to ISO festing
50 x 40FSS4GA code 2548 Class C 50 x 40FSS4HA code 2548 Claes O
50Hz (Approx. speed 1480 min") | 8.6.=1.0 Vis.=1.0c8t 50Hz (Approx, speed 1450 min™") | S.6.=1.0 Vis.=1.0cSt
R ™ m [ F ™ ™ | F
4 Re. NPEH T o e 4 Re. NPSH i 1o
? = 1 2 > 2
) o olo
10— & g 20 E g
L2165 405 £
2 4 M éro:f" . £ 0 J £
il / 75 88y &g
ol ma 78 k4 LE 162210 Exc
2149 NN 23 J D) [
T E T NN £
o129 i 7 o180, AN
] eI =
20 40 -
: y NRON ey i AN
N N K[ [e1ee, 1] LINg8
X1 1\60 ] AL A Y
4 N 8 50
N N N
X 40
10 q 20 -
NPt N
2 4 \
Il i il i
|
g I.3 [ g Fo
min 0 o1 02 03 o4 wmn 0 0.4 02 03 04 08 08
2
usaPM 0 2 i ® a 100 1o § UsePM 0 20 I 6 s 10 120 140 180
mpoPM 0 2 i % w 0 G O 20 40 0 8 100 120 140
HP | KW HP 1 kW
20+ 08 2.0 15
04 — 186 g 10 - 2210
10 ——— - e 107 —— =
02 I ——— 7132 5 05 :W’__, "““
3 0 [ 0 ) |
Curwm No.- 4 - SFESH001 Curve Na.- 4 - GFS8S802
According to SO testing According to SO testing
65 x S0FSS4GA Acoordingo SO te 65 x 50FSS4HA Acoording 10180
50Hz (Approx. speed 1450 min") | S.G.=1.0 Vis.=1.0cSt 60Hz (Approx. speed 1450 min'") | S.G.= 1.0 Vis.= 1.0¢St
Ft m m [Ft Ft m m [F
2 1 2
Re. NPSH » 6 Re. 5
4 - " o 1 01 a — 1
0 0 Lo
i z . it
40% £ E
0 A % der 80 ol
%’QJ & 583 &8
8 (4 \ 2 & gs 18 |200_30% 4 % 3e
B 15, A L 13= E T -
:r E 2198 ] *so E
L1435 N [ N8
20 [ I\ . 40 12 2188 [ i 58
e LIS ! gi7e_| [T
M~ NN T
i 4 ] 2168 \ t~] N
4 60 8 NN 1
NN (]
10 - &0 20 - - K 0
ABY NI
2 N 4 N
i} |
gl & Bl &
wmn 0 0.1 0.2 03 04 05 08 wmn 0 R} 02 3 04 0S5 08
’? I T T T T T T T T -'g. I T T T T T T T T
g USGPM 0 2 40 €0 80 100 120 140 150 g usGPM 0 2 a 60 20 100 120 140 160
[ 20 P © 80 100 10 140 S e 0 20 Py ) 0 100 120 o
HP | ww He | kW
1.0+ 075 2,0 1.5
5 @209
0.5 21 § 0
051 _ ——— 2168 5 1.0 o
0261 — S o134 & 05 1———— i
0 o | 0 ) [
:

338



FSSA

PERFORMANCE CURVE

1450 min?

According to 1SO testing
65 x 50FSS4JA Accarding 0 50t
50Hz (Approx. speed 1450 min') | 8.6.= 1.0 Vis.= 1.0 ¢St
Ft m L1 m Rt
L~
N
| 5
100, ° Re. NPSH > .
///
= olo
| 250 8 2
 L30% __loi— Zz
zs_,_ o ‘75\ 0 | £
75 ] @246 { Y58 o E
T ML ML 88 &8y
20(2238 | | / A -~ 5 is
i I 4] i2s
@220 56 E
| 7 A ™ ™ 54
50 152207 |/ - 1L 'AA )
Revy N <
N AKX
] N N d
1 dps
3 C
[
B
E 2o
wmn 0 01 02 03 04 05 0,
% ) T T T T T T T
g USGPM 0 20 - 80 100 120 140 160
mGPM 0 2 Py % 80 160 120 140
He | ww [ 1
4~ 3 IR o s ey isml
§ 2 - T Y
g = NN I 207
0 [
Curve Na.- 4 - BFRISS008
According to 1SO testing
80 x 65 FSS4HA e 2548 e O
50Hz (Approx. speed 1450 min™") | 8.6.= 1.0 Vis.= 1.0cSt
[§] m m[Ft
1 2
& | Re. NPSH —[ 5
2 - 1
olo
» if
£
60 | E
sz
8 B
i @ﬁiﬁ’%" §5§
L, .60 £
AN
40 ] o[ 2184 ][]
183) [ AN bd—\g8
Lo L/ PSNI70
i 4 \zé“ 65
8 60
SN
20 - 50
0
4 K3 bt
BB
]
g Sol
wmn 0 02 04 08 08 10 12
g T
mpGPM 0 P 8 120 160 200 240 280
HP | KW
20{ 15
% - 2216
10 —
10
$ | o EO e
o 0 |

GurveNo - 4- SFEGSRDT

According to ISO testing
80 x 65 FSS4GA According 19 1St
S0Hz (Approx. speed 1450 min') [ S.G.=1.0 Vis.= 1.0 ¢St
Ft m m[R
Re. NPSH —|—1—] = &
15 - 1
o
2
40 4 €
- E
F40% Teg. - &8g
10 2xe
= 7 G
AR T
== 78
|
4+ H
2 4 I 7 A 70
N
5 60
AN
KX
R
A
%,
1 3 |
2| 2 "
g E 0 |
b 0 2 04 6 08 10 12
%‘ T T T T T T T T
H UsGPM 0 40 8 120 160 200 240 280 420
S o b i % 20 160 200 240 280
HP | W
204 18
% w 10 I ——— Fe178
g L]
i l e 2142
0 o[ 1
According to ISO testing
100 x 80 FSS4GA Accardng o150 t
50Hz (Approx. speed 1450 min") | $.G.=10 Vis.=1.0cSt
R m m |(Ft
w - Re. NPSH §
2 —— 1
aan a
| &
4
20 z
£
a0 E
S8g
16 SXe
] i
E
Y1 e ek s (e |
74 / TR0 T | 1
B 1 Pl 80
R ik aeza=_ JECER
e W - ~ 70
ol E RS WA
N g o~
4 [~ P
'g =
B 1
k|
gl i
rimn Q 02 04 (2] 1] 10 12
% i T T T T T T T T
g USGPM 0 40 80 120 120 200 240 280 320
- @ & I i 20 20 .
HP | kW || | {2183
204 1§ —= e
- /// e
g 10—t
E 10 ——— 2148
& 05 T i
0 0 |

CuaveNo -2 - GFSESI0N




% E2ARA FSSA

DIMENSION - BARE SHAFT PUMP

Shaft

Sge g e f t n h

32 80 100 135 16 4 19

40 85 105 140 16 4 19

50 100 | 120 155 16 4 19

65 120 140 175 18 4 19

80 130 | 150 185 18 8 19

100 155 175 | 210 18 8 19

SIZE MODEL Pump SHAFT Bearing | Packing | Weight
s | od A B D E F G H J M N 0] P R T X z S Q T U \Y w X4 kg
40x32 FSSFA 65 | 280 | 140 | 140 | 70 8 112 50 190 | 100 - - - - - 15 | 19 40 | 31 3.5 6 6 6304ZZ | 20x36x8 19

40 | 32

40x32 FSSGA | 80 (280 | 160 | 190 [ 70 8 |132 | 50 | 240|100 [ 80 [120 | 17 |45 |205 | 15 | 19 40 | 31 35 6 6 6304ZZ | 20x36x8 23

50x40 FSSFA 80 [280 | 140 | 140 | 70 8 (112 | 50 | 190 [ 100 | 80 |[120 | 17 |45 |205 | 15 | 19 40 | 31 | 35 6 6 | 6304ZZ | 20x36x8 20

50 | 40 | 50x40 FSSGA | 80 |[280 | 160 | 190 | 70 8 |132 | 50 | 240|100 [ 80 [120 | 17 |45 |205 | 15 | 19 40 | 31 35 6 6 6304ZZ | 20x36x8 24

50x40 FSSHA | 80 | 360 | 180 | 190 | 70 10 | 160 | 50 | 240 (100 | 110 | 150 | 17 | 45 [ 285 | 15 | 24 50 | 44 4 7 8 6305ZZ | 25x41x8 30

65x50 FSSFA 80 |360 | 140 | 160 | 70 8 | 112 | 50 | 210|100 | 110 [150 | 17 [4.55 | 285 | 15 | 24 50 | 44 4 7 8 6304ZZ | 20x36x8 24

65x50 FSSGA | 80 | 360 | 160 | 190 | 70 10 [132 | 50 | 240 | 100 | 110 | 150 | 17 |45 | 285 | 15 | 24 50 | 44 4 7 8 | 6034ZZ | 20x36x8 27

65 | 50
65x50 FSSHA | 100 | 360 | 180 | 212 | 70 10 | 160 | 50 | 265 100 | 110 | 150 | 17 | 45 [ 285 | 15 | 24 50 | 44 4 7 8 6305ZZ | 25x41x8 33

65x50 FSSJA | 100 | 360 | 225 | 250 | 90 12 (180 | 65 | 320|125 | 110 | 150 | 17 |45 | 285 | 15 | 24 50 | 44 4 7 8 | 6305ZZ | 25x41x8 40

80x65 FSSFA | 100 (360 | 160 | 190 | 70 10 [132 | 50 | 240 | 100 | 110 | 150 | 17 |45 | 285 | 15 | 24 50 | 44 4 7 8 6305ZZ | 25x41x8 28

80 | 65 | 80x65 FSSGA | 100 | 360 | 180 | 212 | 70 10 (160 | 50 | 265|100 | 110 | 150 | 17 |45 | 285 | 15 | 24 50 | 44 4 7 8 | 6305ZZ | 25x41x8 32

80x65 FSSHA | 100 [ 360 | 200 | 212 [ 70 10 | 160 | 50 | 265|100 | 110 | 150 | 17 | 45 [ 285 | 15 | 24 50 | 44 4 7 8 6305ZZ | 25x41x8 37

100x80 FSSFA | 100 | 360 | 180 | 212 | 95 10 (160 | 65 | 280|125 | 110 | 150 | 17 |45 | 285 | 15 | 24 50 | 44 4 7 8 | 6305ZZ | 25x41x8 33
100 | 80

100x80 FSSGA| 100 | 360 | 200 | 212 | 95 10 | 160 | 65 | 280 (125 | 110 | 150 | 17 | 45 [ 285 | 15 | 24 50 | 44 4 7 8 6305ZZ | 25x41x8 36

Unit : mm, unless otherwise stated

340



FSSA

e EaARA

DIMENSION - PUMP WITH MOTOR

2 Poles

Size Out Pump Motor Common base Anchor bolt Weight
Model put Frame
os | od kw | A B H D L P No. MR MA | BM | BN1| BN2 [BY1|BY2| Fd | F1 | Fa | Fb kg
40 x 32 FSSFA5.75 0.75 65 | 280 | 162 | 140 | 621 | 35 80 140 133 | 370 95 95 | 230 | 230 | M10| 200 40 40 45
40 x 32 FSSFA51.5 15 65 | 280 | 162 | 140 | 621 | 35 90S 156 151.5 | 370 95 95 | 230 | 230 | M10| 200 40 40 52
0% 40 x 32 FSSGA52.5 22 80 | 280 | 182 [ 160 | 690 | 45 90L 168.5 | 1585 | 420 | 105 | 80 | 290 | 230 | M10| 200 40 40 60
40 x 32 FSSGA53.7 3.7 80 | 280 | 182 | 160 | 690 | 45 112M 200 175 | 420 | 105 80 | 290 | 230 | M10| 200 40 40 79
50 x 40 FSSFA5.75 0.75 80 | 280 | 162 | 140 | 636 | 35 80 140 133 | 370 95 95 | 230 | 230 | M10| 200 40 40 45
50 x 40 FSSFA51.5 15 80 | 280 | 162 | 140 | 636 | 35 90S 156 151.5 | 370 95 95 | 230 | 230 | M10| 200 40 40 52
50 x 40 FSSGA52.5 22 80 | 280 | 182 [ 160 | 690 | 45 90L 168.5 | 1585 | 420 | 105 | 80 | 290 | 230 | M10| 200 40 40 61
0|0 50 x 40 FSSGA53.7 3.7 80 | 280 | 182 | 160 | 690 | 45 112M 200 175 | 420 | 105 80 | 290 | 230 | M10| 200 40 40 80
50 x 40 FSSHA55.5 55 80 | 280 | 230 | 180 | 887 | 55 132s 239 205 | 540 | 130 | 150 | 350 | 350 | M12| 250 50 50 121
50 x 40 FSSHA57.5 7.5 80 280 | 230 | 180 | 887 55 1328 239 205 540 130 150 | 350 | 350 | M12 | 250 50 50 131
65 x 50 FSSFA51.5 15 80 | 280 | 162 | 140 | 636 | 35 90S 156 151.5 | 370 95 95 | 230 | 230 | M10| 200 40 40 52
65 x 50 FSSFA52.2 2.2 80 280 182 | 160 | 690 45 90L 168.5 158.5 | 420 105 80 290 | 230 | M10 | 200 40 40 62
65 x 50 FSSGA53.7 &7 80 | 360 | 202 | 160 | 818 | 70 112M 200 175 | 540 | 130 60 | 290 | 290 | M12 | 250 50 50 88
65 x 50 FSSGA55.5 5.5 80 360 | 202 | 160 | 818 70 1328 239 205 540 130 60 290 | 290 | M12| 250 50 50 121
e 65 x 50 FSSHA55.5 55 100 | 360 | 230 | 180 | 907 | 55 1328 239 205 | 540 | 130 | 150 | 350 | 350 | M12| 250 50 50 124
65 x 50 FSSHA57.5 7.7 100 | 360 | 230 | 180 | 907 | 55 132s 239 205 | 540 | 130 | 150 | 350 | 350 | M12| 250 50 50 134
65 x 50 FSSJA515 15 100 | 360 | 225 | 225 | 1041 | 95 160M 323 255 | 660 | 170 | 120 | 400 | 400 | M16 | 315 65 63 211
65 x 50 FSSJA518.5 18,5 | 100 | 360 | 225 | 225 | 1041 | 95 160L 345 275 | 660 | 170 | 120 | 400 | 400 | M16| 315 65 63 221
80 x 65 FSSFA52.2 22 100 | 360 | 182 | 160 | 790 | 55 90L 168.5 | 158.5 | 480 | 115 90 | 290 | 230 [ M10| 200 | 40 40 70
80 x 65 FSSFA53.7 3.7 100 | 360 182 | 160 | 790 55 112M 200 175 540 130 60 290 | 290 | M12 | 250 40 50 89
80 x 65 FSSFA55.5 515 100 | 360 | 182 | 160 | 907 | 70 1328 239 205 | 540 | 130 | 150 | 350 | 350 | M12| 250 50 50 117
e 80 x 65 FSSFGA55.5 55 100 | 360 | 230 | 180 | 907 | 55 132s 239 205 | 540 | 130 | 150 | 350 | 350 | M12| 250 50 50 123
80 x 65 FSSGA57.5 75 100 | 360 | 230 | 180 | 907 | 55 1328 239 205 | 540 | 130 | 150 | 350 | 350 | M12| 250 50 50 133
80 x 65 FSSHA511 11 100 | 360 | 245 | 200 | 1041 | 95 160M 323 255 | 660 | 170 | 120 | 400 | 400 | M16| 315 65 63 191
100 x 80 FSSFA55.5 55 100 | 360 | 230 | 180 | 907 | 55 132s 239 205 | 540 | 130 | 150 | 350 | 350 | M12| 250 50 50 124
100 x 80 FSSFA57.5 75 100 | 360 | 230 | 180 | 907 | 55 132s 239 205 | 540 | 130 | 150 | 350 | 350 | M12| 250 50 50 134
1001 €0 100 x 80 FSSGA511 1 100 | 360 | 245 | 200 | 1041 | 95 160M 323 255 | 660 | 170 | 120 | 400 | 400 | M16 | 315 65 63 190
100 x 80 FSSGA515 15 100 | 360 | 245 | 200 | 1041 | 95 160M 323 255 | 660 | 170 | 120 | 400 | 400 | M16| 315 65 63 190

341



FSSA

e EBARA

DIMENSION - PUMP WITH MOTOR

4 Poles

Size Out Pump Motor Common base Anchor bolt Weight
Model put Frame

kW A B H D L P No. MR MA BM | BN1 [ BN2 [ BY1 | BY2 | Fd Ft Fa | Fb kg

50 x 40 FSSGA5.37 0.37 80 | 280 | 182 | 160 |613.5| 45 71 120 130.5 | 420 | 105 | 90 | 290 | 190 | M10 [ 200 | 40 | 40 43

50 X 40 | 50 x 40 FSSHA5.75 0.75 80 | 360 | 215 | 180 |725.5| 45 80 140 1425 | 420 | 105 | 115 | 320 | 320 | M10 | 200 | 40 | 40 56
50 x 40 FSSHA51.5 15 80 | 360 | 220 | 180 |775.5| 100 90L | 168.5 164 |[550 | 115 | 75 | 360 | 290 | M10 [ 200 | 40 | 40 71

65 x 50 FSSGA5.75 0.75 80 | 280 | 202 | 160 |645.5| 45 80 140 1425 | 420 | 105 | 115 | 350 | 210 | M10 | 200 | 40 | 40 55

65 x 50 FSSHA5.75 0.75 100 | 360 | 215 | 180 ([745.5| 45 80 140 1425 | 420 105 115 | 320 | 230 | M10 | 200 40 40 61

65X 50 | 65x50 FSSHA51.5 15 100 | 360 | 220 | 180 |795.5| 40 90L | 168.5 164 |[550 | 115 | 75 | 360 | 290 | M10 [ 200 | 40 | 40 71
65 x 50 FSSJA52.2 2.2 100 | 360 | 230 | 225 |(837.5| 40 100L 193 181.5 | 480 | 115 | 145 | 400 | 260 | M10 [ 200 | 40 | 40 95

65 x 50 FSSJA53.7 3.7 100 | 360 | 230 | 225 (854.5| 40 112M 200 191.5 | 480 115 145 | 400 | 290 | M12 | 250 50 50 106

80 x 65 FSSGA5.75 0.75 | 100 | 360 | 215 | 180 |745.5| 45 80 140 1425 | 420 | 105 | 115 | 320 | 230 | M12 | 250 | 50 | 50 61

80X 65 80 x 65 FSSHA51.5 15 100 | 360 | 220 | 200 |795.5| 40 90L | 1685 164 | 550 | 115 75 | 360 | 290 | M12 | 250 | 50 | 50 71
100 x 80 FSSGA51.5 15 100 | 360 | 220 | 200 |(795.5| 40 90L | 168.5 164 | 550 | 115 [ 75 | 360 | 290 | M12 | 250 | 50 | 50 73

10080 100 x 80 FSSGA52.5 2.2 100 | 360 | 220 | 200 |837.5| 40 100L 193 181.5 | 550 | 115 75 | 360 | 290 | M12 | 250 | 50 | 50 81

342



	FSSA



